[ Efficiency vs vertpos |

~0.02

..............................

..............................

............................

10
TP vert

—
—e— DQM_V0001_R000000001 Global
—— DQM_V0001_R000000001__Global
—— DOM_V0001_R000000001__Global

r (cn%)02

MKFIt_baselne
— mkFit_var

__mkFit_jcoreNoClean
mKkFit_jcore50maxCand-33DUPremoval

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

0
15

Ratio
N

A P e A M P

10
TP vert

[ Efficiency vs. sim PV z |

20

30
z (cm)

~ 0.0

.............................

......................

.....................

.......

=510
Sim. PV z (cm)




	Contents
	Page 1


